7 EELEHBRBEFICHT IHERIEER (RACHYER) THE

SHIE4R 18HS

[IRA] SHBEIASIAET
®E RIT &% R6 T & 48 =54 ZER
@400,000 x 2% A=800,000, @300,000 x 2% A=600,000
@200,000 X 15% A=200,000, @100,000 X 4;% A=400,000
AEERA 2,475,000 2,020,000 455,000 @50,000 X 5% A=250,000, @10,000 x 105% A=100,000
@5,000 x 2054 A=100,000. #7#@5,000 x 5;% A=25,000
FREIA 50,000 50,000 0|EA 50,000
HURLA 20,000 20,000 0| RIEELEREM 20,000
UR AN 2,545,000| 2,090,000 455,000
ZRALBDYES " _ P o
$3 8 FE A AR UL A 4157,000( 4,039,000 118,000 |[BEE~K LT D-DBEAIL TH-ESEFER
IRA&F 6,702,000| 6,129,000 573,000
[XiH]
®E RIT &% R6 T & 48 =55 ZER
EEZERZEHE @6,000 X 1 A x 3[E]= 18,000
Sz HREERHBMBE @20,000 x 1 A x3[E= 60,000
A EX 148,000 148,000 O s mmesr—emaie @50,000X1AX1E= 50,000
iRt -RERREESHE @10,000x2 A x1[E= 20,000
EEZERZENRE @20,000 x 3[@]= 60,000
TEEEREERE @15,000 x3[@= 45,000
EEERE 245,000 191,000 54,000 |fEA B ER S HEIMRE @20,000 X 1A X3E= 60,000
i Bk 3BT AR E (R 51) @70,000x1 A x1E= 70,000
ikt -RERREERE (BRN) @5,000 X2 A x 1[@= 10,000
BB RE 0 0 0
Tz 2ate HHREERETIAMNEAE @1,300 x50fff= 65,000
EHRHERE 101,000 101,000 0 Royeyaym 36,000
| HERERN @3.5 % 10,0004%= 35,000
= FfI S 2 181,000 181,000 0 LHEIEhHE~IBHBNBE @33,000x4E x1.1= 145,200
E
E | BEERE 165,000 165,000 O |EER -k
S8 13,000 9,000 4000 |BERESFER
L& 0 0 0
o 434000| 434000 o R 20m @17x 2436 X 105A= 433,755
FH 20,000 10,000 10,000 |[REEXEFRAFHH
. BE. tEEESRBEMAN @10,000 x3[E= 30,000
MRV HABERRSBHHERAR @20,000 x3[E= 60,000
EiEH 200,000 150,000 90.000 |y sy & - s+ —2 B FIy 10,000
AREFRAMN (EREERES) @40 x 200km x 10[E]= 50,000
B RFENZIEREE (BHPEM) 20,000 x 60f4= 1,200,000
XEEEE 2,650,000 2,650,000 0| &S REBAREE 350,000/ X 2{= 700,000
VECHYXIESREE 2,500 x300H= 750,000
X HNET 4,157,000 4,039,000 118,000
ZALBYESE o
BUAERH 2,545,000| 2,090,000 455000 |7 EEEEEE(ITHEL
XHEF 6,702,000| 6,129,000 573,000
(A<D DERIKS (RiA)] (BAAZ : M)
ORTMBE RS @i ©)i§::E ] @RIHFXES (RRA) (D+Q-Q)
4,279,320 2,545,000 4,157,000 2,667,320




